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- C12 C6
Only output stage has fuses: -3mA idle” R5 R6 R17 A BL FUSE1 V4
- Without zener and 1N4148: output FET's are all R9 2k2 < 2k2 470 @7011 100p 0.001 48
dead when one or both fuses blown 510 b - :
- Drivers survive while they keep connected to rails. = Rser=1 Cpar=0.012
- VGS of output FET's will be to high BC556B a7 R23 "~ bob216 P
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100k D10 82 0.22 0.22 0.22
Cl R43 c5 25C2911 [1N4148
v A AT S ] R3
10p 430 °2l 100 1N4148
Rad R20 D7 \/ D11 10 Rout
10n 12k RED_LED R26 R36 R37 R38 1 4
ACO 100k RED_LED [BZX8fC6V2L 82 0.22 0.22 0.22 C8 Routp_coil
D8 D12 -
;param Vin=0/15 SINE(0 1 {freq}) 10n
.options plotwinsize=0 M6 2SJ201C M7 2sJ201C M8 2SJ201C
.options numdgt=7 Ri6 — — — D14
.param Freq=1000Hz = b= = yaN
.param numcyc=25 — D1N5404
.param dlycyc=5 1k R30/220 R31220 R32(220
.param FFT=65536
.param simtime=(dlycyc+numcyc)/Freq Q8 R24
.param dIytime:d:ycyc/:freq/F — — 25C2911 L F bob79
-param numsampl=simtime/Freq/((simtime/numcyc, * — —
“four {Freq} V(out) 100 b= M2 Rser=1 Cpar=0.012
.tran 0 {simtime} {dlytime} {numsampl} i FUSE2 V1
;ac_decvso 1t 13?39 100 11000 R18 @13 cr ?o 001 48
;noise V(ou lec . me; .
(out) g 470 Tazop “l100p
C11 RED_LED
R42 C9 Choose R9 / R10 to achieve 2.3 - 2.4mA bias throught IPS
Choose R22 / P1 to achieve 150mA - 250mA throught OPS : SUM 4k3 MEASURED FOR 200Ma
BOB216 = 25K216 (25K2013 on pcb)

BOB79 = 2SJ79 (2SJ313 on pcb)
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